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Pronoun Questions - 30 Difficulty Wise MCQs with Solutions

In today's segment, we will be focusing on Pronoun, a significant topic of English Language section that holds substantial weightage in
all competitive exams. AlImost 3 - 4 questions surely come from this chapter in almost all exams. Pronoun questions are an integral
part of the english section and demand a strong grasp of grammar rules and concepts.

Here, we present 30 carefully curated Pronoun questions, each designed to cater to different difficulty levels, simulating the diversity
encountered in the actual exam. It is recommended to approach these questions systematically, attempting them one by one, much
like you would during the actual exam. Difficulty levels are categorised into Easy, Moderate and Hard. By tackling these pronoun
questions, you will not only enhance your preparation but also develop a deeper understanding of concepts. You can also download
Pronoun questions and answers PDF by clicking the Download PDF button on the top of this page.

Prachice Queshons

[Source: KD Live]

Pronoun Practice Questions - Easy Level
Q:1 In the following question, a sentence is given, divided into five parts. The emboldened part is grammatically correct. Out of the four

parts, one part contains an error. Mark the option containing the part with the error as the answer. If none of the parts has errors,
mark ‘No error’ as your answer.

Parents want an international education (A)/ but also want their children to retain (B)/ its culture and identity (C)/as well as excellent
exam results and places (D)/at the top universities (E).
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1.C

2.B

3.D

4.A

5.No error

Direction (2 to 3): In the following questions, two columns have been provided and each column consists of three sentences i.e. the
column 1 consists of sentences A, B and C whereas the column 2 consists of sentences D, E and F. A sentence from column 1 may or
may not connect with another sentence from column 2 to make a sentence grammatically and contextually correct. Each question
consists of five options, which shows the possible sequences that can be formed. Find the correct answer and mark on the respective
option provided. If none of the options are correct, mark the option ‘None of these'.

Q:2 Column-1

A. They reached a data transmission rate of 178 terabits a second,

B. According to a statement by UCL, at this speed,

C. A team of researchers from University College London (UCL), led by Dr. Lidia Galdino,

Column-2

D. worked with two companies, and together they broke the world record for the fastest internet speed.

E. it would be possible to download the entire library of Netflix in less than a second.

F. which translates to the transmission rate of 178 million megabits in a second.

1.C-F;B-E

2.C-F; B-D; A-E

3.C-D; A-E

4.A-F; B-E

5.None of these

Q:3 Column-1

A. In a conversation with Quartz, he talks about the importance of digital technology and analytics in business.

B. World Humanitarian Day is an international day dedicated to recognize humanitarian personnel and those who have lost their lives
working for humanitarian causes.

C. Especially within our front-end employees and management, the ability to think beyond the obvious and combine the knowledge of
our core business with new-age digital technology will be crucial.
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Column-2

D. India does not have a strong health system and economic resources of Covid-19-affected high-income countries or China’s ability to
control population flows in the country.

E. It was designated by the United Nations General Assembly as part of a Swedish-sponsored GA Resolution A/63/L.49 on the
Strengthening of the Coordination of Emergency Assistance of the United Nations.

F. 20,000 ventilators, most of which are only in the large cities.

1.A-D

2.B-D

3.B-E

4.C-F

5.None of these

Q:4 In the following sentence, a part of the sentence is emboldened. Below are given alternatives to the emboldened part, which may
improve or replace the meaning of the sentence. Choose the correct alternative. In case no improvement is needed, choose the
alternative that indicates ‘No improvement.’

If she had time she will contact you.

1.she would have time

2.she would have had time

3.she has time

4.she have time

5.No Improvement

Direction (5 to 7): Read each sentence given below and find out whether there is an error in it. The error, if any, will be one of the
parts of the sentence which are marked as A, B, Cand D. If there is no error, the answer will be (E) i.e. No error. (Ignore the errors of
punctuation, if any).

Q:5 She is (A)/ better (B)/ than (C)/ him is. (D) No error (E)

1.A

2.B

3.C

4.D
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5.E

Q:6 You cannot (A) / change people, (B) / but you can (C) / definitely change own. (D) / No error (E)
1.A

2.B

3.C

4.D

5.E

Q:7 Mrs. Kapoor, (A) / my colleague and teacher(B)/ is known for (C) / their good behavior. (D) / No Error (E)
1.A

2.B

3.€

4.D

5.E

Direction (8 to 10): In the following questions, a part of the sentence is Underlined. Below are given alternatives to the Underlined
part. Choose the correct alternative. In case no improvement is needed your answer is (5).

Q:8 There are many pigeons in the garden today. Shikha, please feed those.

1.Fed those

2.Feed them

3.Fed them

4.Feed those

5.No improvement needed

Q:9 The major supporter of the achievement has been I.

1.The major supporter of the achievement has been me.

2.The major supporter of the achievement have been I.

3.The major supporters of the achievement has been I.

4.The major supporter above the achievement has been I.
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5.The major supporter of the achievement has been I.

Q:10 The stunt actor, whom was driving, flipped the bike. 13
1.whom was driving, flipped the bike.

2.who was driving, flipped the bike.

3.that was driving, flipped the bike

4.who's was driving, flipped the bike.

5.which was driving, flipped the bike.

Pronoun Practice Questions - Moderate Level
Direction (1 to 4): Read the sentence to find out whether there is an error in it. The error, if any, will be in one part of the sentence.

The number corresponding to that part will be your answer. If the given sentence is correct as it is, mark the answer as ‘No error’.
lgnore the errors of punctuation, if any.

Q:1 Due to its sizeable contribution to global greenhouse gas (A)/ emissions and the health benefits of transitioning (B)/ towards a low-
carbon economy, health systems (C)/ have a central role to play in climate change mitigation efforts. (D)/ No error (E)

1.B

2.A

3.D

4.C

5.E

Q:2 A. Nature is beautiful, also it is difficult to put into words.

B. Nature is the ultimate source of our living

C. With the increasing population, the threats nature are increasing.

D. Nature's beauty are portrayed through the sun and moon, the plants, the flowers, etc.

E. The extinction of species as minute as dinosaurs and the survival of animals as tiny as ants have been documented in history.
1.A

2.B
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3.C

4.D

5.No error

Q:3 Thus, the three-party coalition (1)/ has come about because every concerned were (2)/ worried about their sheer (3)/ political
existence. (4)

1.1

2.2

3.3

4.4

5.No error

Q:4 (A) Due to the absence of any witness or evidence / (B)Neither of the /(C) five accused /(D) could be convicted / (E) No error.

1.A

2.B

3.E

4.D

5:E

Q:5 Four statements are given below at A, B, C and D. There may be some errors in the given statements. Mark the incorrect statement
as the answer. If all the statements are correct, mark E, i.e., ‘All are correct’ as the answer.

1.Fringe elements, in the name of cow protection, has appeared to be on the prowl and operating with impunity in some of the states.
The unchecked manner in that they are unleashing violence without the fear of law and order is a matter of serious concern.

2.The National Nutrition Mission was supposed to be gamechanger in terms of malnutrition in India. Unfortunately, it acts like a
governing body which measures malnutrition rather than working in a holistic way.

3.Farming is not just a job, it is a way of life. The political class in India is largely responsible for the plight farmers in India today find
themselves in. Enabling adequate water resources and popularising organic farming are some workable solutions.

4.The newly minded term ‘green crackers' grabbed headlines, but doubts remain about its effectiveness and practicality.

5.All are correct
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Direction (6 to 7): In the following question, two columns have been provided and each column consists of three sentences i.e. the
column 1 consists of sentences A, B and C whereas the column 2 consists of sentences D, E and F. A sentence from column 1 may or
may not connect with another sentence from column 2 to make a sentence grammatically and contextually correct. Each question
consists of five options, which show the possible sequences that can be formed. Find the correct answer and mark on the respective
option provided. If none of the options are correct, mark the

option ‘None of these'.

Q:6 Column-1

A. Killer cosmic rays from nearby supernovae could be the culprit behind at least one mass extinction event, researchers said,

B. A new study led by the University of lllinois, UrbanaChampaign astronomy and physics professor Brian Fields explores the possibility
of astronomical events

C. The team concentrated on the Devonian-Carboniferous boundary because those rocks contain hundreds of thousands of
generations of plant spores

Column-2

D. and finding certain radioactive isotopes in Earth’s rock record could confirm this scenario.

E. being responsible for an extinction event that occurred 359 million years ago, at the boundary between the Devonian and
Carboniferous periods.

F. that appear to be sunburnt by ultraviolet light — evidence of a long-lasting ozone-depletion event.

1.A-E

2.B-D

3.C-F

4.B-F

5.None of these

Q:7 Column-1

A.The Indian economy stands at a vulnerable position today, and if the pandemic has taught us one thing.

B. Best practices from successful States are adopted near the country.

C. The free market is still operating, but it has hardly made a difference to a large part of the population who are still excluded from
receiving the benefits of development.

Column-2

D. It will be a good idea to add tailors to that list, an essential service now that masks are mandatory in public and workplaces.

E. itis that the economy needs people as much as the people need the economy.

F. itis critical to not lose sight of the ideals we stand for.
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1.A-E

2.B-D

3.B-F

4.C-D

5.None of these

Direction (8 to 10): In this question, a sentence has been given with some of its part in bold. To make the sentence grammatically and
idiomatically correct you have to replace the bold part with the correct alternative given below. If the sentence is correct as it is, mark
‘No improvement required’ as your answer.

Q:8 There has been a lot of furore ever since the disclosure by them who maintain that it was an unauthorised act.

1.ever since the disclosure by those whom are maintaining that

2.ever since the disclosure by those who maintain that

3.ever since the disclosure because those who maintain that

4.ever since the disclosure by those who have been maintaining that it

5.No improvement required

Q:9 The criminalization of illicit cannabis use ignores the many ills which a criminal record brings, the effect it has on the social,
economic, physical and mental wellbeing of the person.

1.ignore the many ills which a

2.ignores the much ills that a

3.ignored the many ills which a

4.ignores the many ills that a

5.No improvement required

Q:10 ICICI Lombard General Insurance said that it will merge Bharti AXA’s non-life insurance business with themselves through a share
swap deal. The deal will create India’s third largest non-life insurer with an annual premium of Rs. 16,447 crores.

1.with themselves against a

2.with themselves through the

3.with itself through a

4.by themselves through a

5.No improvement required
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Pronoun Practice Questions - Hard Level
Q:1 Identify the segment in the sentence that contains a grammatical error. Choose the option which is grammatically incorrect from

(A), (B), (C), (D) and if there is no error in any part then choose (E) No error.

Everyone believes (A) / that Charles drove (B) / in the city (C) / himself by car (D) / No error (E).

1.A

2.B

3.C

4.D

5.E

Q:2 Four statements are given below at A, B, C and D. There may be some errors in the given statements. Mark the incorrect statement
as the answer. If all the statements are correct, mark E, i.e., ‘All are correct’ as the answer.

1.With the demands of industry and service sectors changing at such a rapid pace, students need to be sharp and choose a career
wisely.

2.Studies have shown that buildings, roads and other hard surfaces absorb and store heat whereas vegetation reflects heat.

3.No institution, however high, including the judiciary, should insulate oneself from improvements.

4.Innovation is what capitalism is all about, and there has been staggeringly rapid progress in developing clean alternatives to coal, oil
and gas.

5.All are correct

Direction (3 to 4): Read the sentence carefully to find out whether there is any grammatical/idiomatic error in it. Find out the part that
has grammatical or idiomatic error in it. If there is no error then mark the 5th option i.e. No Error.

Q:3 In a world which is experiencing an unstable (A)/ equilibrium, policymakers can plug a few holes in (B)/ the volatility dike, but
ultimately (C)/ volatility will show up somewhere else (D).

1.A

2.B

3.C

4.D

5.No Error
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Q:41n 2019, the National Green Tribunal (NGT) commissioned a study (A)/ of the Musi river to determine the extent of antibiotic
pollution. In its report to the NGT (B)/ researchers from BITS Pilani-Hyderabad observed that all 90 bacterial strains they had isolated
form (C)/ water samples were multidrug-resistant; some of there were even extensively drugresistant, a ‘higher’ category. (D)

1.C

2.A

3.B

4.D

5.No Error

Q:5 In the following sentence, a part of the sentence is emboldened. Below are given alternatives to the emboldened part, which may
improve or replace the meaning of the sentence. Choose the correct alternative. In case no improvement is needed, choose the
alternative that indicates ‘No improvement.’

Except for you and |, everyone brought a present to the party.

1.Except for you and me, everyone brought

2.Except you and me, everyone brought

3.Except for you and |, everyone had brought

4.Except for you and |, everyone have brought

5.No Improvement

Direction (6 to 10): Read each sentence given below and find out whether there is an error in it. The error, if any, will be one of the
parts of the sentence which are marked as A, B, Cand D. If there is no error, the answer will be (E) i.e. No error. (Ignore the errors of
punctuation, if any).

Q:6 Every boy and (A) / every girl (B) / will do his best (C) / will do his best (D) / No Error (E)

1.A

2.B

3.C

4.D

5.E

Q:7 She introduced to (A) / the Chief guest as (B) / the organizer of the (C) / event. (D) / No Error (E)

10
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1.A

2.B

3.C

4.D

5.E

Q:8 The Assistant Manager ordered the (A) / watchman to (B) / let the women colleagues (C) / and | go in. (D) / No Error (E)
1.A

2.B

3.C

4.D

5.E

Q:9 In the summer vacations, (A)/ | went to (B)/ an island called Fiji (C)/ and enjoyed very much. (D)/ No error (E)
1.A

2.B

3.C

4.D

5.E

Q:10 As such, banks play an important role in the economy. (A)/ To some extent, bank loan managers (B)/ decide whom projects,
and/or businesses (C)/ are worth taking and are deserving of capital. (D) No error (E)

1.A

2.B

3.€

4.D

5.E

11
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Solutions of Easy Level Pronoun Questions
Q:1 (1) The error is based on the personal pronoun. In part C, ‘its" is used for the parents. Since the noun is plural, it will take a plural

pronoun only. Therefore, it should be ‘their’.

Q:2 (4) The theme of this paragraph is a record of the highest Internet speed. The first sentence in the paragraph is part ‘C' that cites
the introductory information of the passage. This sentence is continued in sentence ‘D’ that cites the detail as to what those
researchers did. So, the correct match is C-D.

The second sentence of the paragraph is ‘A’ that cites the information on the data transmission rate. This sentence is carried forward
by sentence ‘F that tells about the translational rate of transmission. So, the correct match is A-F. The sentence ‘B’ is the last sentence
of the paragraph that cites a statement by UCL. This sentence is continued by sentence ‘E’. So, the correct match is B-E.

Q:3 (3) Statement “B” seems to be in conjunction with “E” as both seem to be stating about World Humanitarian Day and that it was
designated by United Nations. The remaining statements are not in sync with each other.

Q:4 (3) The sentence will appear correctly with the use of “Has” in it. In the present tense, “have” is used for |, you, we, and they and all
plural nouns. “Has” is used for he, she, and it, and for all singular nouns.

Q:5 (4) The mistake lies in the incorrect usage of the word ‘him'. It should be replaced with ‘he’. In the case of comparison between two
nominative cases, the pronoun thatis used is also of the nominative case. In the given sentence, there is comparison between two
nominative cases, hence, nominative case will be used.

Q:6 (4) The mistake lies in the incorrect usage of the pronoun ‘own’. It should be replaced with the reflexive pronoun ‘yourself.’ The
pronoun ‘own’ should be used to introduce something or someone that belongs or relates to a particular person or thing and to no
other and always used after a possessive pronoun like ‘my, your, their, etc., and ‘yourself’ should be used when the object is same as
the subject in a sentence. It refers to one person.

Q:7 We will replace ‘their’ with ‘her’. In the sentence, two singular nouns are joined by ‘and’ which refer to the same person or thing, the
pronoun used for them must be ‘singular’.

Q:8 (2) Them' is used to refer to the object of a clause. Here, ‘feed them'’ should be used instead of ‘feed those'. It usually represents
the group of people or things that have experienced the action and refers back to two or more people or thing that were mentioned
earlier.

Q:9 (1) The use of “I” as the object of the sentence is incorrect. In the given sentence, as “I" is used as the object of the sentence, hence,
it should be changed to the objective pronoun “me”.

Q:10 (3) The mistake lies in the incorrect usage of the pronoun ‘whom’. “Whom" is used when the word it refers to is acting as the
direct object of something in the clause it appears.

In the given sentence, rephrasing the overall pronoun would change “whom was driving” to “he was driving.” Since “he” is the subject of
the condition, the right word here is “who.”

12
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Solutions of Moderate Level Pronoun Questions
Q:1(2) In the given sentence the error lies in part A. The plural noun ‘health system’ should be used with a plural pronoun. So, ‘its’

should be replaced by ‘their'.

Q:2 (2) All the given sentences apart from sentence B are incorrect.

In sentence A, the use of ‘also’ is erroneous, since it says two contradictory things at once. Thus, the most appropriate conjunction to
use would be ‘yet'.

In sentence C, ‘the threats nature are increasing’ is erroneous. “towards” should be used to make the sense of the sentence both
grammatically and contextually.

In sentence D, the use of the verb “are” is erroneous in nature. Since nature’s beauty is singular in nature, we should use the singular
verb “is” to make the sentence grammatically sound.

In sentence E, the word minute means very small or minimal. Whereas the sentence demands a word with the meaning of gigantic or
enormous.

Q:3(2) “Every” is incorrect here. It should be “all”. We use both 'all' and 'every' to refer to the total number of something. All refers to a
complete group. Every refers to each member of a complete group.

Q:4 (2) ‘None of’ should be used in place of ‘neither of’ since, ‘neither of' is used for ‘two’ whereas, 'none of' is used for 'more than two'".
Q:5 (1) Replace ‘has appeared’ with “appear” and ‘that’ with “which”.

Q:6 (3) The theme of this paragraph is a cosmic ray that is speculated to be the reason behind one mass extinction. The first sentence
in the paragraph is part ‘A’ that seems to be an introductory line of the passage. This sentence could be completed by part ‘D’ of
column 2 which provides evidence to confirm the scenario. So, the correct match is A-D.

The second sentence of the paragraph is ‘B’ that cites a new study. This sentence is completed in the sentence ‘E’ of column 2 that
mentions about the study. So, the correct match is B-E.

The third sentence is ‘C’ that is in continuation of the previous sentence. The sentence that complies with it is ‘F'. So, the correct match
is C-F.

Q:7 (1) A-E seems to make a meaningful statement after rearrangement. Statement “A” seems to be in conjunction with “E” as both
seem to be stating about the Indian economy and lessons taught by the pandemic that the economy needs people as much as the
people need the economy. Theremaining statements are not in sync with each other.

Q:8 (2) The phrase given should use the demonstrative pronoun those instead of them.

Option 1 is incorrect due to the usage of ‘whom'’ instead of who. Option 3 is absurd and the word ‘because’ breaks the flow of the
sentence. Option 4 is incorrect as ‘have been’ is usually used for something that started in the past and has continued up until now.

13
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Q:9 (4) The word ‘which’ in the highlighted part is grammatically incorrect as “which” is used to add information to objects, items,
people, situations, etc. The suitable word that fits best there is ‘that’ as “that” is used to indicate a specific object, item, person,
condition. The rest of the words are correct and do not need any improvement.

Q:10 (3) The term “ICICI Lombard General Insurance” has been cited as a singular subject in this sentence. So, the verb and other
words have to be singular. So, the word ‘themselves’ is unsuitable in this sentence. The correct word that could improve the sentence is
‘itself".

Solutions of Hard Level Pronoun Questions

Q:1 (3) Charles is driving the car so it is the motion expressed in the sentence. When the motion is expressed towards something then,
pronoun ‘into’ is used. So, it will be ‘into the city’ instead of ‘in the city'.

Q:2 (3) ‘However' should be replaced with “"howsoever” and ‘oneself should be replaced by “itself”.

Q:3 (1) This part contains an error of the pronoun. The pronoun ‘which’ is inappropriate in the part ‘A’ of this sentence because “which”
is used to add information to objects, items, people, situations, etc. In this sentence, the pronoun that fits best is ‘that’ as “That” is used
to indicate a specific object, item, person, condition, etc.

Q:4 (4) The word “there” seems to make the entire sentence grammatically as well as contextually wrong. Part 4 seems to be making a
contextual mistake in which the word “there” provides another meaning which is not corresponding to the entire sentence hence this
is incorrect and by replacing it with “them” in the sentence will make more grammatical sense out of it as “them” is always used in place
of plural nouns or noun groups in the third person whereas “there” is used when the noun is singular.

Q:5 (2) The sentence seems to be inappropriate with the useof “You and I”. The sentence has “Except for". ‘Except for' is an idiom which
means ‘if it were not for'. While ‘except’ is a preposition which means ‘apart from’ or ‘with the exclusion of and is followed by a personal
pronoun in the accusative case (him, me, us, them, etc), if any. With respect to the used preposition, the most appropriate explanation
will be “Except You and me” as it is grammatically appropriate.

Q:6 (3) The mistake lies in the incorrect usage of the pronoun ‘his’. It should be replaced with ‘her’. When two singular nouns are joined
by ‘and’, preceded by each or every, the pronoun used must be singular and agree in gender with the second noun.

Q:7 (1) The mistake lies in the missing of pronoun ‘herself'. ‘herself' should be added after ‘introduced’ After the words - hurt, cheat,
prostrate, introduce, present, absent, satisfy, lay; object or reflexive pronoun is used. In the given sentence, the word ‘introduced’ is
used, hence, 'herself' is used as object or reflexive pronoun.

Q:8 (4) The mistake lies in the incorrect usage of the pronoun ‘I'. It should be replaced with ‘me’. After the word ‘let, pronouns are
always used in objective case. In the same way, after prepositions like between, except etc, pronouns are always used in objective case.
In the given sentence, as let is used, hence, pronoun in objective case will be used i.e., 'I'.
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Q:9 (4) The error lies in part D of the sentence. The mistake lies in the missing pronoun ‘myself’. Insert myself after the verb enjoyed.
The verb ‘enjoy’ either takes an object or a reflexive pronoun after it. So, we will use the reflexive pronoun of ‘' i.e. myself.

Q:10 (3) The mistake lies in the incorrect usage of the word ‘whom’. It should be replaced with ‘which’. Here, usage of ‘whom’ as a
pronoun is inappropriate as it is used in context of asking for person. In the given sentence ‘which’ should replace ‘whom’ since the
sentence talks of things like ‘projects’ etc.

This article has provided you with a valuable resource for honing your grasp over the Pronoun chapter. You have now practiced a
carefully categorized collection of practice pronoun questions, ranging from easy to moderate to hard difficulty levels. The
categorization of questions by difficulty enables strategic preparation, offering you a chance to build a strong foundation and gradually
progress towards more challenging problems.

We invite you to share your thoughts and any doubts you may have in the comment section below. Additionally, we encourage you to
share your marks scored in the practice questions, as this can be a great way to gauge your progress and learn from your peers. Be
assured that KD Live is committed to providing more such blogs, complete with study materials and comprehensive coverage of
practice questions from every chapter of the English Language and Grammar section. Your success is our goal, and we wish you the
very best in your upcoming exams!
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